TDC Alignment for Tagger



T counter condition

* Check the TDC condition of T counters:(use data file of Snake scan:65117)
1)The left PMT of T20,T24 and T40 is not working
2)The shape of TDC distribution of T16,T50,T51,T52,T53,T54 and
T55 is abnormal compared with other normal T counters(eg,T17)
3) Both the left and right PMT is not working for T56, T57, T58, T59,
T60, T61



TDC distribution of left PMT for T16, T20,T724,T40,T50-T61
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TDC distribution of left PMT for T16, T20,724,T40,T50-T61
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TDC distribution of right PMT for T16, T20,T24,T40,T50-T61
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TDC distribution of right PMT for T16, T20,T24,T40,T50-T61
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TDC distribution for Normal T counters: T1,T15,T17
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TDC alignment between left and right T counters



TDC of T-Right minus TDC of T-Left

ma sanl o r 1)

am
TAT: J§
TEEL T DS
LE e ] B0
10. T3 0L

400

o0

| Tima dembodionol bl on T oounler . ILL 4T | Time disiibicnel F= on T oot _. TLY A] |_ Time deribution ol iz on T camriar . TOT =]
= 10 r
1700 [ - E
- mof— E
1om [ F |
A 3 moo|_ [
6 |- F &
& o= 5
4m |- - E
N o -
zm - [ C
& B
[ Tima cisinbaticro] i on T oot L) [ Timadzbibacncd W= on T counbr “ L i | [ Time detribion ol = onT cantar |} TH

Eririez [ Eririe [ET]

r 5 ER--]

120 v 1m0 1|n.-|g|

: -_ a

(] I imo - A

- [ 13T T

= u am i ada

am B am |- 1173 248

N 5 LI L

500 |- amF [
40 |- am [~
2m - 200 [~
5 g




TDC of T-Right minus TDC of T-Left
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TDC of T-Right minus TDC of T-Left
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TDC of T-Right minus TDC of T-Left
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TDC of T-Right minus TDC of T-Left
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TDC of T-Right minus TDC of T-Left
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TDC of T-Right minus TDC of T-Left
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TDC Alignment between two adjacent T counters



TDC alignment between two adjacent T counters
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TDC alignment between two adjacent T counters
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TDC alignment between two adjacent T counters
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TDC alignment between two adjacent T counters
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TDC alignment between two adjacent T counters
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TDC alignment between two adjacent T counters
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TDC alignment between two adjacent T counters
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